Figure S1

a
E 0.05-
£ 0.05
$ 0.04
[}
£
$ 003
£
© 0.02-
T
=
3 0.01-
[
Ko
© 0.00
-

Trabecular separation (mm) O

(]

Total CS area (mm2)

o
o
1

o
'S
1

o
w
1

o
[
1

g
N
1

o
o

%k % % Xk

N

*k
Oo——0

.._T_..
5

T T
Vehicle OPG:Fc

T T
Vehicle OPG:Fc

T T
Vehicle OPG:Fc

T T
Vehicle OPG:Fc

Week 2

Week 8

%k %k %k

Week 11

%k % %k %k

Week 13
3k Kk Kk
ol's
e
o, L]

T T
Vehicle OPG:Fc

T T
Vehicle OPG:Fc

T T
Vehicle OPG:Fc

T T
Vehicle OPG:Fc

N
o
1

g
=)
1

-
wn
1

-
o

Week 2

:
i

Week 8

%k % % %k

.E.%.

°
o 31
o

Week 11

* % %k

2

L
RS

Week 13

%k % % Xk

+
HLR

T T
Vehicle OPG:Fc

T T
Vehicle OPG:Fc

T T
Vehicle OPG:Fc

T T
Vehicle OPG:Fc

Week 2

Week 8

Week 11

Week 13



	Slide Number 11

